

ECUACIONES 1º GRADO

FICHA 1

$$x + 2 = 3 \rightarrow x =$$

$$x + 2 = 14 \rightarrow x =$$

$$x + 12 = 3 \rightarrow x =$$

$$x + 12 = 23 \rightarrow x =$$

$$2x = 6 \rightarrow x =$$

$$2x = 12 \rightarrow x =$$

$$12x = 36 \rightarrow x =$$

$$12x = 6 \rightarrow x =$$

$$2x = 3 \rightarrow x =$$

$$2x = 7 \rightarrow x =$$

$$x + 2 = - 3 \rightarrow x =$$

$$x + 2 = - 14 \rightarrow x =$$

$$x + 12 = - 3 \rightarrow x =$$

$$x + 12 = - 23 \rightarrow x =$$

$$-2x = - 6 \rightarrow x =$$

$$- 2x = - 12 \rightarrow x =$$

$$-12x = - 36 \rightarrow x =$$

$$-12x = - 6 \rightarrow x =$$

$$-2x = - 3 \rightarrow x =$$

$$-2x = - 7 \rightarrow x =$$